“TEMPO-

GUIDE D'INSTALLATION
INSTALLATION GUIDE

RANGEMENT
5'X8et5 X12

PORTES DE BOUT / FRONT AND REAR DOORS
Support de porte / Door support

Anneau / Ring /

Crochet / Hook

Noeud / Knot

Elastique / Shock cord

* Insérer I'élastique dans l'oeillet
puis faire un noeu

* Push the shock cord through the
grommet then make a knot

« Insérer I'élastique dans
l'oeillet puis faire un noeud

* Push the shock cord

through the grommet

then make a knot

« Insérer les crochets sur
les oeillets de la bande
d'attache de I'abri

« Insert the hooks,
on the grommets
of the attachment
strip of the shed

« Utiliser les bandes pour Toile de porte / Door tarp

attacher chacune des portes

* Use the shock cord to fasten
both of the doors

« Vérifier le nombre de piéces / Verify parts

« Installer la structure / Install the frame

» Mettre la toile bien tendue et centrée sur la structure / Install of the tarp center and stretched on the frame
« Lasser la toile / Lace the tarp

« Installer les ancrages et le clous au quatre coins / Install anchors at four corners

« Toujours laisser l'abri libre d'accumulation de neige et de glace / Always remove snow and ice accumulation from roof without using cutting objects

- DAR

DESCRIPTION

Q
@

Centre d'arche / Center arch 39-3/4"

Coin d'arche 2 trous / Corner arch 2 holes

Coin d'arche 1 trou / Corner arch 1 hole

Poteau (patte) 2 trous / Post (leg) 2 holes

Poteau (patte) 1 trou / Post (leg) 1 hole

Entretoise femelle / Female connecting pipe

Entretoise male / Male connecting pipe

Diagonale / Diagonal 60" *Méme piéce que | / Same as |

Barre de porte / Door bar 60" *Méme piéce que H/ Same as H

Boulon / Bolt 1/4" X 1-3/4"

Boulon / Bolt 1/4" X 2-1/2"

Ecrou papillon 1/4" / 1/4" Wing Nut

Ancrage cavalier / Anchor

Z|IZ|Ir|[R|l<|—|T|®@|mMmO|O|w|>|S

Clou / Nail 14"

o|aINGed[dGa|a]s NN

N[N -
R P P gl LS LR =Y C (2 L B Bl B




	Page 1

